3 (Sem-5) HIS M 1

20109

HISTORY
( Major )
Paper : 51
( India under the East India Company )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer in one word or in one sentence : 1x7=7

GB1 *IF 7 9B TS Seq frdl

(a) What was a Farman?

Frsfr e 2

(p) When did the Sannyasi Rebellion take
place?

SR Rearg (e waite tafs 9

(c) Who was the first Indian ruler to sign
the Subsidiary Alliance?

T A P FERS T AAwesRIS SR
P (T IR ?
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(d)

(e)

(9)

(2)

When was the Treaty of Seringapatam
signed?

TEEeITe A (fon TreEe (3fRe 2

Mention the Act that ended the trade
monopoly of the East India Company in
India.

SReRE 33 eI @EARNT GFRA TS
A qCBrET e Seard 4 |

Who was U. Tirot Sing?
C. fogw fi oM wifeet 2

Who is the author of the book,
The Indian War of Independence, 18577

The Indian War of Independence, 1857
AR Ipfrer @ 2

Answer the following in brief : 2x4=8

TS FRIGRR vy Tee fim -

(a)

(b)

20A/231

Mention  two provisions of the
Regulating Act.

‘AT @39 5 v S 90 |

Name two States brought under the
Doctrine of Lapse.

IR Moy <@ SRS T4 53 T
T |

( Continued )



(3]

() What was the Dual System of
administration in Bengal?
JHOP (3G ¥ 9% A [ S1Re 2

(d) Mention two provisions of the Treaty of

Sagauli.
SeMer pfeEd 101 0% Sray 1 |
3. Write short notes on any three of the
following : 5x3=15

weie fEaEs /e fofFom eoe Y CoreT ot
(a) Subsidiary Alliance
T Q! S
(b) Commercialization of Agriculture
FRY AT
(c) Third Battle of Panipat
“(ife12q PO Ta
(d) The Santhal Rebellion
srgerE f[RuarR
(e) Bahadur Shah Jafar
I 'R TS

4. Answer any three of the following : 10x3=30
oS fraaRe R e fo bR e foren .
(a) Compare the significance of the Battle of

Plassey and Buxar in the context of
foundation of British Rule in India.

oree Bibe P 4R crge = & =i
YR AT OIRALT G |
20A/231 ( Turn Over )




b2

(b) Trace the rise of Sikh power under
Ranjit Singh and give brief account of
Anglo-Sikh relation during the rule of
the East India Company. A
qfere itz rpge e *fed TxmE «ofb @9
oFe T HF W AW FEUANR <P
PIECRIR 2351-F F7=obq 98908 50 forsan |

{c) What were the factors that led to the
decline of traditional industries in
India?

TGS AR SRR SEAed SRICAR
& =fee 0

(d) Discuss the features of the Permanent
Settlement in Bengal. What were its
impacts on the landlords, peasants and
the Government?

o foewdl qwafdR  CAEIRE SICETG
| GEE, $EF OU HIPMEG 9UIS N
ASRAN & enfes 2

(e) Discuss the significance of the Peasant
Uprising in India in the period under
the East India Company.
2B 3w @ e saeed e @
T fRearTes wieor Sl 4 |

(i “The Revolt of 1857 can be called as the
first war of India’s independence.” Do
you agree? Give reasons.

“steq TR Rgee oRed FAMSR AW 39
o1 73 AR 1”7 Pf e ? (e SERCe |
* &k
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2019

HISTORY
( Major )

Paper : 5.2
[ History of Assam (1228-1826) ]
Fuil Marks : 60.

Time : 3 hours

The figures in the margin indicate full marks
| for the questions

Answer either in English or in Assamese

1. Answer the following questions in one word or
in one sentence each : 1x7=T7

oo gl eppiRa efSh Bed 9Bl X% 9T @bt e
e

(a) What are the ‘Charit Puthis’?
‘ot off3’ 62

(b) Who is the author of Hastividyarnava?
BRI @4F @ ?
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(2)

() Name the first Barpatra Gohain.

AN G CSMRIZSE 1 (o147 |

(d) What were Koch coins known as?
15 @ < AN &1 T13 2

(¢) Who  constructed the Rudreswar
Devalaya located in North Guwahati?
Teq GaRbe TS T GAEE I e
Fffee 2

(f) In which year the Battle of Saraighat took
place?

(T 5® *[<12HI69 I F<q0® (22 ?

{g) Name the capital of Jayantia Kingdbm.
SIS I SIS A T |

2. Answer the following questions in brief : 2x4=8
wers 1 epPTRd 59 Ted fia
(a) Which two posts were created by Pratap

Singha? Name the two officers who were
first appointed to these two posts.

ol Bicgd @M 151 “Mad e Fffee 2 @2 oMl
7ore e (e dxw Rewn eee 7 o3 |

(b) Who was Ramani Gabharu?
T STeF I i 7

20A /232 ( Continued )



(3)

¢ What was Latakata Ran (Creepers
Cutting Expedition)?
oreh! 99 % wiifes 2

(d) Who were Haradatta and Biradatta?
ZTWE AF IITE (1 HIfeeT ?

3. Write short notes on any three of the
following : 5x3=15
wore ol & e fofibt e eo@e o (Gret forsi -

(a) Paik System
{12 A2
(b) Koch-Ahom Conflict
CFTo-Se AT
(c) Battle of Itakhuli
LU AR
(d) Bar Raja Phuleswari
37 G FCeradl
(e) Neovaishnavite Movement in Assam
ST (I HCH
4. Answer any three of the following .questions 2
10x3=30
were fran 7 e bt e Tea fica
(a) Assess the importance of the inscriptions

for the reconstruction of the history of
medieval Assam.

T Y 2Rt et cRae R
Iy o[ F40

20A/232 ( Turn Qver )




(4)

(b) Analyze the circumstances leading to the
conflict between the Chutias and the
Ahoms during the reign of Suhungmung
Dihingia Raja. What were its results?
resys Ry qum fiqe R oom “fRfEfes <
HCE SF FOR WS I@ FKube 2% 7 W
PR $ wifee 2

(c) Why did Mir Jumla invade Assam? What
were its consequences?

T gz 1 oopm S FREE? W

FEAFPT, [ ofee 2

(d) Critically assess the reign of Rudra
Singha.
A Goead 8 PRI IEIIE
Yo 341 |

() The Moamaria Rebellion was the
outcome of religious conflict but later
assumed a political character. Comment.

RS Rear Ty wdq a9r wifee 3fre
Prtar @2 Resics qmafes e @19 IR |
TI9 1|

(f) Discuss the main features of the Ahom
administrative system.

G2 HPT TRER o1 CAREPTHR S0 37 |
* & %
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2019

HISTORY
( Major )
Paper : 5.3

[ History of Europe (1789-1870) |

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions in' one word or

in one sentence each : ‘ 1x7=7

woe il ez afere TEd 9Bl = 77 @bt AFe

fran -

(a) In which year did Louis XVI convoke the .
meeting of the States General?
@O TR (@ e B (STEER SRA
SIRI PffEE 2

(b) In which year was Fontainbleau Treaty
signed by Napoleon?

TCheg PO ARG (I TS WrRS
FffeE 2

20A/233 { Turn Quver )



(2)

(c) Which leader of the Vienna Congress was
known as ‘Moral Dictator’?

form Fxema @ @oe SEE Ehe M
Tl ol 2

(d) Name the four powers which formed the
Quadruple Alliance.

boeie i Hrwa 341 o ﬁrﬁw 5 2

(e) Who termed Turkey as the ‘Sickman of
Europe’?
I TT@R QT R’ R (I Tl 2

(f/ Name the Czar of Russia who was known
as ‘Czar Liberator’,

IR @ TR ‘w@ BRgass’ I
Cotfet 2

(g9 Who was the founder of ‘Young Italy’?
TR A e ofow e 2

2. Answer the following questions in brief : 2x4=8

e fdl epTEs vits Taq fim -

(@) What was the Declaration of Pillnitz?
Prefross camen & wifte 2

(b) Name two philosophers of 18th century
France who had great influence on the
outbreak of the Revolution in 1789.

Sy R Tl Regd R cFae deR
CIEETRN Sy XSFR 1 o wpfes w9 forat |

20A/233 ( Continued )



(3)

(c/ Why did Metternich term the Holy
Alliance as ‘high sounding nothing’?

ORISRy R pRee e e IR

e 2
(d) What was the importance of the Battle of
Leipzig?
iR Jag @y & wifke 2
3. Write short notes on any three of the
following : S5x3=15

weTe fralca<E R e fofiom 8o v Gt forsit
{a) Reign of Terror
MEMERIEN]
(b) Treaty of Tilsit
fGe1fo59 pfes
(c) Foreign Policy of Napoleon III
PO GTeAIfeme Caeie s

(d) Charles X of France (1824-30)
Y P OEfb (Sr-38—wo)

(e) Schleswig-Holstein question

CeI6C201-25CHRR o7l
4. Answer any three of the following questions :

10x3=30
were ol R e fofeior e Teg W

(@) Discuss,.the social causes of the French
Revolution.

FAM0! Rz AT FEIER S 47 |

20A/233 ( Turn Qver )




(4)

() How far was the French Monarchy
responsible for the outbreak of the
French Revolution of 17897
Sars B9 FA0 [eRq o] AR FER TH0F
R 7T wsi_ 2

(c) What led to Napoleon’s break with
Russia? Why is it called that ‘the
Napoleonic retreat from Moscow is one of
the most horrible episodes in history’?
AR CLS CAllerme 9y [ @RE FR
67 ‘EeenfemT wER o[ YR e I 2N
qT S SHRE 61 e 7 o =02

(d) What led to Vienna Settlement? Do you
believe that ‘it was on the whole
a reasonable and statesman like
settlement’? :
foam pfe & PR afemr oft @3 pfes ‘P
&S @3 T ege afefde FHiAeT i’
31 SR 2

(e) Discuss the significance of the July
Revolution of 1830 in France. What were
its impact on Europe?

Sroo B FEe QE gEiR Ruad A
AL F9 1 FoEee @ Rugq gem
w1fRE 2

{/  What were the contributions of Mazzini
and Cavour to the cause of Italy’s
Unification?

WA G@AFIE IQ@ @R WE e
el & wifee 2
* % ok
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2019

HISTORY
( Major )
Paper : 5.4

( History of Science and Technology
in Pre-Colonial India )
Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions in one word or
in one sentence each : i 1x7=7
'ﬁﬁ%wﬁ%ﬂﬁ‘ﬁ T 9Bt ITS Teq
fran ;

(a) Name the typical stone tool of Mesolithic
period.

Ted o RO SfEanies amw fray |

(b)) Who 'coined the phrase “Neolithic
Revolution’?

“TaerEs Re@’ ATCH! (I 29Ty 2T A 2
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(2)

(c) Name a port of Harappan Civilization.
2581 FeeI] Wbl I%FF A o< |

(d) Name one PGW (Painted Grey Ware) site
of India.

SReTq @4 . & o, (¢t @ @)
CFaq = ford |

(e} Who wrote Panchasiddhantika?
“APTaIET’ @i iR 2

{f) Name the ancient Indian astronomer who
argued that the earth rotates on its axis.

RN e e et @ (WIS
SOREET AN SRy (oA "
forat |

(9) In which country gun powder was used
for the first time?

YR T IR AN (I (TS C2fRe 7
2. Answer the following questions in brief : 2x4=8
PR e ste Teg fan

(@) Why is Bhimbetka famous for? ’
SHI6R & IR Rere 2 |

(b) What do you understand by the term
‘chalcolithic’?
‘oot feifRs” gfe1 °ce1 6 q= 2

20A/234 { Continued )



(3)

(c) Write any two characteristics of NBPW
(Northern Black Polished Ware) culture.

1. R B offe. (O @ AfmE @A)
FeegTed [ ICT 61 ¢ fora o

(d) List any two advancements made in
textile technology in medieval India.

TP SROS I T (Fae @d RIPE
f e 7o1 D! 2FS 4 |

3. Write short notes on any three of the
following : 5x3=15
wete fral A (el TSR ev1ae 5 B foren
(a) Palaeolithic tools

SIFeed o1 SN

(b) Harappan crafts
ESCISRRES L

(c) Evolution of rock art in India during the
Mesolithic period

T2 Jor SRS O R

(d) Persian wheel
AT Bl

(e) Charaka
12e




(4)

4. Answer any three of the following questions :
10x3=30
iR i et o e Teg i

(a) Discuss the material culture of Neolithic
period in Indian subcontinent with
special reference to Mehrgarh.

=Roee Rewes S IR SO SANRIeTE
T YoF (SIS T~ Ty Sicetmvan 41 |

(b) Write a note on the technological
development of the Mesolithic period.

Tgores Poro RN RIrR erme ot G
fert | '

(c) Discuss the developments of arts and
crafts during Bronze age.

34 Jore Preery Rerm e Scaoe <1 |

(d) How was the use of iron technology
brought changes in the economy?

MR 2% Az weAifee @R “Rad
wifafRe 2 )
(e) Examine the advances made in the field

of mathematics and astronomy in
ancient India.

A SREe afde W (@eREm Rure
@R Rary gfofe, «Fwa 4 |

(f) Discuss any two technological inno-
vations of medieval India.

TR e R @ 7o R Tere
Ry sea w4 |

i ; * & K
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20109

HISTORY
( Major )
Paper : 5.5
[ History of Great Britain (1485-1820) ]
Full Marks : 60

Time : 3 hours

The ﬁgures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions in one word
or in one sentence each : 1x7=7

il erpiyza AfeR Tes @bt *1% 37 @Bt TS e

(a) What was the most important
significance of the Battle of Bosworth

(1485)?
B T (S8v¢e) ARSI ACHGAT TGOl
fer ezt 2

(bp) Who was Sir Thomas More?
TR L ¥ (I RE 2

(c/ What is the theory of Divine Right of
Kingship?

ifaT A S 4" 2

(d) What was the Petition of Right (1628)?
R o (Svav) 5 ifee 2
20A/235 ( Turn Over )



(2)

(e} How did the First Civil War (1642-46)
come to an end?
2 T (Se83-8v) g e 02w 2

(/ In which year were William and Mary
proclaimed king and queen as joint
sovereign by the Convention?
ST (TN HIe TN WE G Jor
T T Roleet (T I ?

(g9 Who invented powerloom in 17157
395¢ TS AR (I TeRe FaeT ?

2. Answer the following questions in brief : 2x4=8
frafeiRe s vate Ted fr -

(@) What were the Acts passed by Queen
Elizabeth in 1559 to bring about a
settlement with the Church?

M@ Gee Twen 99 @ 0 ey

Sees b A=A T S 73+ & wifeE 2
(b) Write two causes of downfall of
Commonwealth. -

FYNCIEL “TST TR 701 fors |

(c) What were the main causes of conflict
between James I and Parliament?
AN (S WF AP Were (AN TR AL
FRPAR e 2

(d) Write about the circumstances leading to
the union of England with Ireland (1800).
2CEAGT TF TRREST GFAIT  (Sv00)S
wfRe el Ry Rew for |

20A/235 ( Continued )



(3)

3. Write short notes on any three of the
following : 5x3=15
fafeRe R e fefibr e /e vy G fora
{a) Religious Policy of Henry VIII

By (A 4T S
(p) Downfall of the Puritan Government
FHEROM v3FET o
(c) The Long Parliament
e s
(d) James II
2l cewp
(e) Achievements of William Pitt
ey 4151 SFETerTR

4. Answer any three of the following questions :
10x3=30
fAwfeiRe ez @ e fofibr S firan

{a) The accession of Henry VII is generally
taken as the dividing line between
medieval and modern times. Explain.

A (AR PR SERTE TECS TR
F ST T AR @9 I 4 T
27 | I A1
(b) Discuss critically various phases of the
foreign policy of Queen Elizabeth. To
what extent did she succeed in
combating the Counter-Reformation?
B 101 M L e T G2 M = B
AL P4 | ARSI

g%\:{ﬂm@mmﬁmwcséﬁwmw
5 :
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(4)

(c) “The Restoration was not only the

restoration of the old monarchy, it is
also meant the bringing back of the
Parliament and before long, it is meant
the bringing back of the old Church.”
Elucidate this statement with reference
to the period of 1660-1688.
“ofe7q AfSHTRaCe (91 A A o AfBIE
CEEl e, 3 OfE e @EE o A
@SR IRl iR, 2 AMER FR
AfSPIS JEiRfed 1”7 Svvo-dut BIY TRBHIS
fofew @2 sRwo Rege 341 |

(d) Why did England participate in the War
of the Spanish Succession? How did the
Treaty of Utrecht (1713) make England
the strongest European power?
oz Saaifier 910 2%Es 5 wfibe tafew 2
FeGed pec (save) M WEGF TWRIA
wBiReC e a1 o oift pfefe 2

(e) “George I..was the first constitutional
king of England Do you agree with the
statement?

o T BAGT AR AR @ 1
& TGIOR (TS Sl GO ?

() Why did the Industrial Revolution begin
in England? What were its economic and
social consequences?

Soael e Awe B P RRE? W
AR S I PP, b wifee 2

* ok ok
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2019

HISTORY
( Major )
Paper : 5.6
[ History of China (1839-1949) ]
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions in one word
or in one sentence each : 1x7=7

were fial epprged oifest @bt X I 9 IS Taq
feeam

(@) Which treaty concluded the First Opium
War?
@ PR FeTe 22 SRR TR S = 2
(b) What do you understand by Open Door
Policy?
& 7 e i & 3802
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(2)

() What do you understand by Tung-chih
Restoration?

53-f ~Fewem e & @ ?

(d) Who declared himself as the ‘Tian Wang’
or the Heavenly Emperor?

@i e foam a1 Fo F@ I e
<ffRe 2

(e) In which year was the Boxer Protocol
signed?
THA 2’5 i (P 51 T I (3R 2

() What is the meaning of Kuomintang?

FfReoR *@ w2

(g9 In which year was the Chinese
Communist Party formed?

@ 5T® DI IHSE 7 910 C3fRe 2

2. Answer the following questions in brief : 2x4=8
welw frdl ﬁ'ﬂﬁ‘{iﬁ Bﬁt@ Teq Tl -

(@) What do you understand by Unequal
Treaties?

SPTl B =l < g8 ?

(b) Write two aims of the Revive China
Society.

fReiZs B2 5751269 qo1 o5 S 4 |

20A/236 ( Continued )



(3)

(0 Why was the Washington Conference
held?

QG Tete o sifde tafee 2

(d) Name the two Communist leaders who
led the Long March.
R -1 (9g WA TG FHeME o A fE= |

3. Write short notes on any three of the
following : 5x3=15

were i B @i bR 87 s 55 Bl &
(a) Canton Commercial System
o A1 =

() Hundred Days’ Reform
< fufe iz

(c) Kuomintang Party
FRFER 7@

(d) Sun-Joffe Declaration
B~ (S CReT7g

(e) Mao Tse-tung
TS (2]

4. Answer any three of the following questions :
10x3=30
wore frl 2 R et fofbR s fian
(a) Discuss the causes and results of the
Second Opium War.
e o Fad TR OE FAFPHR AT
340 |
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(4)

(b) Discuss the three phases of the Self-
Strengthening Movement (1861-1895).
Why did it fail?

Srg-fE AT e (Srbd-Ske)T
fofRDr ~rfq Racw Scemal 911 @2 ACwem
on e tafeE 2

(c) What were the objectives of Boxer
Uprising? Discuss the significance of the
Boxer Protocol.

o Hoaes Soen & wifeer? 99 o'
wleeRE [REcg eemp 41 |

(d) What were the causes of the Chinese
Revolution of 19117
oyss 59 Be Rvad FRIER @ R ifed o

(e) Discuss the political ~ideologies of
Dr. Sun Yat-sen.
Slo B GiB-(oR AEtATeE RORT fRea S
=90 |

(! Give an account of the rise of Communist
Party in China.
S =RThHE o ST R afb 3 i |

W & K
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